GLOBAL OLYMPIC CENTER KATEQORIYA Il SiZd UGURLAR ARZU EDIRIK!

1) Find the value of /HalauTe 3HaueHue BbipaxkeHua / ifadenin giymatini hesablayin:
11+12+13+14+415+14+13+12+11.

(A) 115 (B) 125 (C) 135 (D) 145

2) What is the number in the blank so that the equation below is correct?
Kakoe 4ncno cTouT B Nponycke, YTobbl ypaBHeHUE, NPUBEAEHHOE HUXKE, 6bIN0 NPABU/BbHBIM?
Asagidaki tanliyin dogru olmasi tiglin boslugda hansi adad olmalidir?
46+ =120
(A) 74 (B) 65 (C) 73 (D) 84

3) If Bis a 1-digit number, what is the value of B if the equation is correct?

Ecnm B — ogHO3Ha4yHOE YMC/I0, KAKOBO 3HayeHue B, ecnn ypaBHeHWe BepHO?

Tanliyin dogru olmasi Gigiin B takragamli adad olarsa, B-nin giymatini tapin:
B+B+B=39

(A) 13 (B) 14 (C) 15 (D) 16

4) What is the number in the blank so that the equation below is correct?

Kakoe uncno crout B nponycke, 4Tobbl ypasHeHUe, NpUBeAEHHOE HMXKe, BbiNo NpaBUNbHbIM?
Asagidaki tanliyin dogru olmasi liglin boslugdaki adadi tapin:

36+45-43+_=150

(A) 145 (B) 112 (C) 138 (D) 137

5) Choose 2 digits, without repetition, from 4, 5, 6 and 7 to form three-digit numbers. How many
even number(s) is/ are there?

BbibepuTe 2 undpsbl 6€3 nosTopeHna ns 4,5,6 n 7, 4ytobbl cGopMmMpPoBaTL TPEX3HAYHBIE YUCNA.
CKONbKO CYLLLECTBYET YETHbIX Yncen?

4,5,6 va 7 adadlarindan takrar istifade etmadan 2 adad segmakls licragamli adadlari alin. Ne¢a
clt adad var?

(A)5 (B) 12 (C)6 (D) 8
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6) Find the sum of the greatest 2-digits odd number and the smallest3-digits even number.

Haﬁﬂ,MTe CyMmmy Hanbonbluero ABY3Ha4YHOIMo HEYeTHOro Yncsia U HaumeHblero TpexaHa4yHoro
YeTHOro 4Ymncna.

on boyik tak ikiragamli adadla an kigik clit Gigragamli adadin camini hesablayin:

(A) 199 (B) 189 (C) 190 (D) 179

7) Find the value of / HaliauTe 3HauyeHune BbipaxeHua / ifadanin giymatini hesablayin:
A+ 8+ 0+4xA+4+4x4+4,
(A) 45 (B) 50 (C) 32 (D) 42

8) A pear costs $3. A pineapple costs $4. How much does it cost if John buys 4 pears and 5
pineapples?

Mpywa crout $3. AHaHac ctouT S$4. CKoIbKO ByaeT CTOUTb, ecan JXKOH KynuT 4 rpywm u 5
aHaHacos?

Armud 3 S, ananas isa 4 S-dir. Con 4 armud va 5 ananas alarsa, na gadar pul 6damalidir?

(A)S34 (B)S32 (C)$35 (D)S36

9) What is the smallest 4-digit even number by choosing numbers from 8, 6, 7 and 5. (Each
number can only be used once)

Kakoe camoe maneHbKoe YeTblipexsHayHoe YeTHOe YUCSO , eCaun Bbl6paTb yncnaus 8,6,7un5.
(Karkpaoe Yncno MOXKHO MCNO/b30BaTh TOIbKO OANH pas)

8,6,7 va 5 adadlarindan istifada etmakla (har adaddan yalniz 1 dafa istifade etmak olar) an kigik
dérdragamli ciit adadi tapin:

(A) 5687 (B) 8657 (C) 7568 (D) 5678

10) John has two sisters. How many brothers does John's sister have?
Y 1>koHa ecTb ABe cecTpbl. CKoNbKo 6paTbes y cecTpbl [HKOHa?
Conun 2 bacisi vardir. Conun bacisinin neg¢a gardasi var?

(A) 1 (B) 4 (C) 2 (D)3
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11) According to the pattern shown below, what is the number in the blank?
B cooTBeTCTBMM C 06pa3LLOM, MOKa3aHHbIM HUXE, KaKoe YACN0 HAaXOAUTCA B NPONycKe?
Asagidaki ifadaya uygun olaraq boslugda hansi adad olmalidir?

2,2,4,8, 14,26,
(A) 26 (B) 32 (C) 48 (D) 15

12) If we draw one line on a plane, we got two parts. If we draw four lines on a plane, how many
parts can we get the most?

Ecnam nposecTy ogHY IMHUIO HA NNOCKOCTU, TO NONYYUTCA ABe YacTU. ECIv Mbl HAYEPTUM YeTbipe
JIMHUM Ha NJIOCKOCTM, CKONbKO YacTei nony4nTca 6onblie Bcero?

Mustavi lUzarinda bir xatt ¢cakdikds, iki hissa alinir. MUstavida dérd xatt ¢akdikda, an ¢ox ne¢a
hissa alinacaqdir?

(A) 14 (B) 15 (C) 11 (D) 17

13) What is the greatest possible number of consecutive day(s) among only one Tuesday?
KakoBO MaKCHMMaibHO BO3MOXKHOE KONIMYeCTBO NoC/aeA0BaTe/IbHbIX AHEN Cpean TONbKO O4HOro
BTOPHMKA?

Yalniz bir ¢arsanba axsaminin arasinda an ¢ox neca ardicil glin vardir?

(A) 12 (B) 13 (C) 14 (D) 15

14) Now Andy needs to cut a cake. How many cuts at least are required to ensure he can cut the
cake into 8 parts?

Tenepb IHAM HYKHO paspe3aTb TOPT. CKO/IbKO NO KpaiHel mepe paspes3os TpebyeTcs, 4Tobbl OH
CMOTr paspesaTb TOpPT Ha 4 4acTu?

Endi indi tortu kasmalidir. Tortu 4 hissaya bélmak i¢lin ona tortun lGzarinda an azi nega dans
kasik agmaq lazimdir?

(A) 2 (B)3 (C) 4 (D)5

15) A student needs to finish IMEC Final Round within 100 minutes. How many minute(s) is / are
required for 34 students to finish IMEC Final Round altogether?

CTyAeHT AoNXKeH 3aKOHUYUTb PUHaNbHLIN payHAa IMEC 8 TeyeHne 100 MUHYT. CKONbKO MUHYT
TpebyeTca / TpebyeTca, 4To6bl 34 CTyAEHTa 3aBepLUMAN dUHANLHBIN payHa IMEC B uenom?
Talaba IMEC-in final marhalasini 100 dagiga arzinda bitirmalidir. IMEC-in final marhalasini
bitirmak Gg¢ln 34 talabaya cami ne¢a daqiga vaxt talab olunur?

(A) 100 (B) 3400 (C) 340 (D) 34
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16)3 students have 29 toys ships in total and each of them has a different numbers of toys ships.
At most how many toys ships does the student with the least toys ships have?

Bcero y 3 yueHuKoB 29 urpyluedHbix Kopabnein, 1 y Kaaoro u3 HUX pasHoe KONMYecTBo
urpyLeyHbix kopabnei. MakcMmanbHOe KONMYECTBO UrpyLLIEYHbIX Kopabael y yd4eHuKa ¢
HaMMEHbLLMM KONMYECTBOM UIpYyLLEYHbIX Kopabnen?

3 sagirdin 29 oyuncaq gamisi var va har birinin mixtalif sayda oyuncaq gemisi vardir. ©n az
oyuncaq gamisi olan sagirdin an ¢ox nega oyuncaq gomisi vardir?

(A) 6 (B) 7 (C)8 (D) 11

17) How many 3-digit numbers are there?
CKONbKO CyLLeCcTBYeT TPexX3HauHbIx uncen?
Nega Ugragamli adad var?

(A) 999 (B) 900 (C) 980 (D) 100

18) Determine / Pewwute / Hall edin:

(A) 135 (B) 210 (C) 145 (D) 146

19) How many squares are there in the figure below?
CKONIbKO KBaApaTOB Ha PUCYHKE HUKe?
Asagidaki sakilda ne¢a kvadrat var?
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20) How many triangles are there in the figure below?
CKONbKO TPEYroNbHUKOB Ha PUCYHKE HUKE?
Asagidaki sakilde nega ligbucaq var?

21) How many interior angle(s) is/are there in the polygon below?
CKONbKO BHYTPEHHWUX YI/10B B MHOIOYro/ibHUKE HUXe?
Asagidaki coxbucaqlinin ne¢a daxili bucagi var?

22) Determine / Pewwute / Hall edin:
50+12+3+4+5+16+7+18+9+11
(A) 135 (B) 123 (C) 145 (D) 146
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23) How many line segments are there in the figure below?
CKONbKO OTPEe3KOB Ha PUCYHKe HUKe?

Asagidaki sakilda nega xatt segmenti var?

(A) 16 (B) 17 (C) 18 (D) 19

24) Peter has 34 oranges and Harris has 6 oranges. How many oranges does Peter have to give
Harris to make them to have the same number of oranges?

Y MNuTtepa 34 anenbCUHOB, a y Xappuca 6 anenbscuHa. CKONbKO anenbcuHOB [nuTep AO0NXKEH AaTb
Xappwucy, 4Tobbl y HUX BbI10 04MHAKOBOE KOIMYECTBO anenbCUHOB?

Piterin 34, Harisin isa 6 portagali vardir. Piter Harisa ne¢a portagal vermalidir ki, onlarin barabar
sayda portagali olsun?

25) A natural number starts with
HaTypanbHOe YnCcno HauMHaeTcA ¢

Natural adad ilo baslayir.



